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The sum of third and ninth term of an A.P is 8. Find the sum of the first 11 terms of the pro ion.
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the four numbers is divisible by:
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Iflog 2,log (2*-1) and log (2* + 3) are in A.Bthen xisequalto ____
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Q4. Find the value 25ttty
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Q5. Aball is thrown from a height of 5000 meter on a ground the
ball is bounced 4/5 times of its every last bounce then calculate
the total distance covered by the ball till it stopped?
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Q7. The side of a square is 16 cm infinite no. of squares are made
by joining mid points of each side of the squares. Then calculate
the total area of all the infinite no. of squares?
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Q8. The side of a right-angled triangle are 6, 8 & 10 cm
respectively. A new right-angled triangle is made by joining the
mid-points of i each sides of triangle. This process continues
for infinite times then calculate the area of all infinite triangles?
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Let {a,}1 be an arithmetic progression with 100 elements. a, = 5, ay = 8 and so on. {b,}1* also has 100

elements, but b; = 3, by = 7 and so on. Find how many common elements {a,} and {b,} have.
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